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Which of the following statements are true about Abhinav Bharat Organization ?

_' (a) Ibrahlmbha1 was the trainer to teach ‘Dand-Patta’ to the members of Abhinav Bharat.

- (b) Weapons used to be acquired through Tmnba]c C11akravart1

E (c) Barvewada from Kothur was the Arms Depot of orgamzatlon

. (d) Pune was the centre of Abhinav Bharat. '
Select the correct option from the above pair. e
‘(1) (a) and (b) correct o (2) (b) and (d) correct’

- (3) (c),-(b) and (a) correct (4. Al correct

2, ﬁmﬂrﬁmﬁmnﬁwmwmﬁw@ﬁ
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" The following is the teacl‘ung of Narayan Gu.ru s movement in Pre-lndependent Kerala.
(a) Onme Religion
(b) One Caste
(c) One God
. (d) OneLand -
‘ S'elect,thre correct option. -
(1) (a) and () correck " (2) (b)and (d) correct
(3 (). ®)and (a) correct @) All are correct -
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Who is described in the followmg sentences ?

(a) -He was orientalist par-excellence. .

(b) Hewas appomted as a judge of Supreme Court.
(o He was conversant with Hebreéw, Arabic, Pers1an, Turkish.and had a sml‘:l:e.nng of Chmese
 (d) He had knowledge of Sanskrit too.

Answer options : ‘ :
. (1) - Mountstuart Elphmstone < (2) Sir William Jones
(3) Franz Bopp : S (4) Anquetil Duperron
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(3) (o) snfon(d) - T @ (d) e (a)

“Investment of fOl'Elng capitals and protectmn of law and order are the main instruments of
Development of India”. This statement is written in an Economical essay written by :

(@) * John Stuart Mill

(b) Alfred Marshall ,

(c) Dadabhai Naoroji

(d) Justice M.G. Ranade.

Answer options : - P '

(1) (2) and (b) . . (@ @®and(9)
(3) (c) and (d) | 49) (d)and (a)
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(1) e i HamE &= @) Wuﬁamaﬁ
(@) fyw @f denm 4 @) @bt danE favda 9
The countries Canada and Brazil come under which type of mineral resource area?,
(1) Low mineral resource area (2) Medium mineral resource area

(3) High mineral resource area (4) No mineral resource area

6. o S e oo fer i ST 49 A3 v W o Ak ?
() ¥t e, Eow A, frew i T e 9
@) feh e e e, e e = e
(3) - et B, Hew e, Wi g A IRafes A
(4) = i, freer Wi, WS 9 9 YRS A
Due to east-west expansion of United States, the country is divided into which four time zones ?
(1) Eastern zone, Central zone, Middle zone and Western zone N
{2) Eastern zone, Middle zone, Central zone and Pacific zone

{3) Eastern zone, Central zone, Mountain zone and Pacific zone

(49) Eastern zone, Middle zone, Mountain zone and Pacific zone

7. THa q st @ fraer daa wgre ufeel wRes e s wvaw sl did 2

{1) 571970 (2) 51972 (3) 571974 (4) 571976
When was the first United Nation Conference on human and environment held ?

(1) 5June1970 () S5June1972 (3) 5June1974  (4) 5 June 1976
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The selection of suitable cartographic technique depends on which factors ?
(1) Qualitative and Quantitative information
(2) Nature of information, type of explanation and objective of map
(3) Primary information and secondaty information
(4) Use of sign, colours and Alphabets
9. RHE HfaymT= S Hemrer faur gftee e stogrn féar Fain sgmn Fa s o
o HIGEET FER SR, ™ WM SR TE ?
(1) HFEH169(1) (2) FEA169Q2) (3) FAH169(3) (4) o 169(4)
According to which article of Indian Constitution, the Act of abolishing or creating a Legislative
Council will not be considered as an Constitution Amendment Act ?
(1) ‘Article 169(1) (2) Article 169(2) (3) -Article 169(3) (4) Article 169(4)
10. 2% TeIRe faum gfteg wevia @reticrien! Srow/Foren StrEl/Sie Jea e ?

(a) faem - 75
(b) FEF - 78
(c) IHIR™ - 99
(d) HAEH - 90
qaidt 3=y :
(1) = (b) (2) I (a) S (d)
(3) T (a), (c) N (d) (4) W (c) M (d)
Which of the following pair/pairs does not match with the respect to the Legislative Council ?
(a) Bihar - 75
() Maharashtra - 78

" (¢) Uttar Pradesh - 99
(d) Karnataka - 90
Answer options : o - :
(1) Only®) , (2) Only (a) and (d)
(3) Onlyf@),(and(d) =~ (4 Only()and(d)
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(A): A Mlmster at the state 1eve1 continues in offlce till he enjoys the confidence ‘of the Chief
Minister. - :

(R) ¢ The Chief Mlmster can ask him to resign or adv1se the Govemor to distniss him in case of
difference of oplmon S :

Choose the correct following :

(1) Both (A) and (R) are true and (R) is right explanation of (A). ;
' (2) Both {A) and (R) are true but (R) is a wrong’ explanatlon of (A)
() (A)is right but (R is wrong;

.7(:4_) ~ (R) is right but (A) is wrong.

12.

Wﬁwmﬁmnﬁq&mﬁwﬁmﬁmw7
(1). 31 T o . (2) 21 ¥
B 7w ' | @ v e

In Maharashtra, how many members in the Leglslatwe Councﬂ are elected by the members of
Legislative Assembly ? '

1 3 members o " (2) -21 members

(3) 7 members (4) None of these
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On the website of the ‘Morning Consult Political Intelligences’ the U.S. President Joe Biden is at
: . number with 43% rating among the list of 13 world leaders. .

a st @ 120 o @) 10t . @ e | : ‘

14, mmmﬁm ey mmmmg@mmmmmv .
) mnﬁqﬁﬂaﬁvﬁ%wmmﬂﬁﬁumwmm B
@) ‘WWM’WWMWWW "
©) _mmm%ﬁwmmﬁmm%m

(4). %@WWMWW?@

Which of the followmg statement abovut colou:r code wammgs by India Meteorolog1cal Department :
istrue ? . : : : :

(1) ’I'here are five ciifferent colours uSed'-to‘ issue warning about weather
(2) Blue colour warning means no immediate action needed
(3) Red colour warning means watch and stay updated .

(4) Green colour means no action needed

15, srs Fred Wik s 2 Surehe e s TS Y @ AT 2 ST e e
: wmmmmmm A AiEATT FeAH T 1,200 IHRAR TR -
) 2 2000 - () W20 @) SE200 (@) TEma0

.Bhumn, the sma]l countrymalwaysaatl:acuon for the tourists mInchabecause of it's extraordmary .

' beauty and shortest distance between the two countries. But: frqm the month of ___the .
entry fees for the country will be charged ¥ 1,200

(1) May 2020 () July 2020 (3 Jme2020  (4) ‘Novémber 2020
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On an island Socha-karo the inhdbitants always aniswer any question with two sentences - one of
which is always true and other is always false. Nina while moving around, meets.three inhabitants,

a lawyer, a teacher and a pensmner When Nina questioned about who is who they answered as
follows :

" Dolu : I am not a teacher. Kolu is not a teacher.

Malu : Dolu is not a lawyer. Kolu is a teacher.
Kolu:  Doluisnota pensioner. | am not a teacher.

Select the true statement from options.

(1)  Kolu is the teacher. | (2) Dolu is the pensioner

(3) Malu is the lawyer . (4) None of the above three
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| zraaﬂtmrmzfittaéﬁInsntzn%n'a@nqtnnsn%ﬂrtnaaﬂztﬁaaﬂ;n%ﬂrqﬁﬁihﬂtawaﬁh '
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(1)_ A AT Yl & Fd

(2) foreeet o=t e A AR . .

© ‘faﬂﬂ¥ﬂﬂﬁﬁ”nﬁﬁﬁhlﬁﬂﬁiﬁﬂtﬁ%ﬂﬂﬁﬁﬂﬂ?‘ﬁﬁﬂ'ﬂﬁﬂ - T p
(4) =R T \ o '
‘There is likelihood of m:htary coup to take over power in some countries in case there is no emergence
of strong political leadership. Leftist students groups or unions of labour’s maytry to raise revolutions
but military power being very strong will not allow this to happen using their rules. Military ruling

.and withdrawal of power from politics are closely related to societies’ level of political development..
With respect to pohhcal development, select the assumphons of above argument. -

(1) Military fills in pohtlcal vacuum
. (2) Military ruhng is necessary for development :
"~ (3) Political leadersh1p is not effectwe optlon for development
(4) None of the above :

L @ 42 (3 43¢ . (4) 33
- Find out the number of triangles in the adjoining figure. o :

W a . @ 2 @ 43 @ 33
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Find the missing part if A=1, B=2, C=3, D=4 respectively.
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(1) FiEhe - = (2 faeeh - famm
(@) "WmR-@wm (@ wE-e

Five friends P, Q, R, Sand T travelled for Goa 1nd1v1dua]1y for ﬁve cities. i.e. Chermm, Delhi,

Hydrabad, Kolkata and Mangalore by different means of transport i,e. bus, train, aeroplane, car
and boat.

The one who travelled for Delhi didn’t use boat R travelled for Mangalore by car and S trave]led
by boat. Q travelled by aeroplane for Kolkata and T travelled by train. Delhi and C'.he!mm are not.

- connected with bus route with Goa.

Which combination of place ; and transport of the followmg is true ?
(1) . Kolkata - bus. . : 2 Delhi - aeroplane
(3) Mangalore train - ‘ (4) - Chennai - boat

21.
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- 2 o1 wiflernt fayero rEe 3. W w39 < waee W @ e S S wead Jren fi

Td AW T e APNER AW TEeE aREY . m@mmmwm
AT [EASTER e TR Y Teum P SR,

. W YRl SRYd Téas e
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Statistical analysis shows that in the advanced countries the level of ﬁnancmg towards health
services is making little impact on the health of their populations. Though some countries spend
six times as much per head on the health facilities and countries spending only half as much, life

. expectancies of their popu]atlons are almost same. Thus it is meaningless to say that the health of -

population depends in the level of finances spent per head.

Select the underlying assumption with respect to above argument. -

(1) For improving health of its population country should increase per head fmance :
(2) The health of populations is indicated by life expectancy of population. - |

(3) Proportion of finances spent per head is not an appropriate md1cator of healtﬁ of populatlon

of any country.

(4) Itis responsibility of the government to develop efficient health care system for increasing life

:expectancy of its populatlon _
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BLO | | 369
EPL | 279
P]T 175
NS o8
NLB 309
RT] 451
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+

The letters in column I are coded in the form of digits which i is wntten in column II. But the order
of digit is different. Identl.fy the correct code of letters. . :

Column I» A. Column II -
BLO 369
EPL Y
PIT - 175
JNS ST 018
CNLB 309
R) - 451
"Whatvvil.-li)eﬂle‘codeofL]N?
Q 713 _(2)' 90 . (3) 610 | L@ 817
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(1) W@SBOW‘ ' . (2) aanaz‘s’rsm'qﬁm
() T 7ag A - @ Ha;laé’f.7:4'2am1

‘A’ walks around a circular field at the rate of one round per hou.r, wl'ule ‘B’ runs it at the rate of
+ 6 rounds per hour. They start in the same dJrectlon from the-same pomt at 7:30 a.m. They. shall first
cross each other at :

(1) 830am (@ 8&Wam .

3) 748 am. @ 742am.

24, AFBAA xmf‘aamnmanmﬁmﬂmﬂaaﬂﬁquﬁm@f Awwmaﬁamﬁﬁ
T B ST wd T 80% R 31 A =1 T1&fid 3T, mmammawmaﬁ
™M EHT A FE Higae, mmﬁuﬂh@ﬁwﬁuﬁﬁa—a :

(1), Amzﬁmﬁwmeﬁmﬁazmmm

.(2). 2ﬁrﬁvévaﬁmﬁm,xarésoﬂﬂﬁlmtﬁﬁ

3) mAﬂﬁﬁ%@ﬁwmwaﬁ
@ ‘mAﬁW@éﬂﬂﬁﬂﬁmlaﬁmgﬁ?@ﬁ

A and B decide to travel from place X to piace Y by bus. A has T 10 with him and he finds that it
is 80% of the bus fare of two persons. Bﬁndsthathehas?3w1thh1mandhand51tovertoA
In this context select to the correct statement from options. .

(1 A éﬁu needs ¥ 2 for buying 2 tickets. .
(2) A is left with 50 paise after purchasing 2 tickets.
- 3) " Now A has exact money to bﬁy tickets.

4y Now A has not sufficient money, to buy two tickets. -
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Money in the accounts at the beginning of the year that three friends had as shown in the

accompanying bar graph. They did spend equal amount tll now from their accounts and the
account of Salim is halved.

~ Select from the options that would represent the pie chart that most closely Tepresents amount in
~ their account now.

Accourit Balance

Komi Salim William

William William =
Komi , ‘ - Komi
3)  Salim omt @) . ‘ '
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16 . A
A$B 3 A, B Y odiet F89; A4B W 3 A, B < w0 oy, A*B 1 31 A, B qori g snfn
A@BYI 54 A BH Wis 8. M, Q< waw! o § ovlaum wafw e, -
(1) QS$R#T@M  (2) Q$RGT#M  (3) QS$R*T#M. . (4)  QSR@T*M
A$B means A is the father of B; A#B means A is the sister of B; A*B means A is the daughter of B

and A@B means A is the brother of B. Select the following that indicate ‘M is the wife of .
(1) QSR#T@M  (2) QSR@T#M  (3) QSR*T#M (4 QSR@T*M

27.

7 ;3 3R FHEFGA HATAGHEN FH SR Th! HRE@FIRIE 70% FHOH § 30% STUMF F<H
T Squr B, W T Tl v Joria oFmo wwnor R % S ? ’.

(1) 100% (2) 58% (3 95% (4) 45%

The ratio of employee to manager is 7 : 3. 70% of the employees and 30% of the managers take
lunch in the canteen. What % of total work force takes lunch in canteen ? ’

(1) 100% (2) 58% (3) 95% (4) 45%

28.

S 1) 13 (2 15 @) 35 (4) 45

T Tl T =0T UEH Y. TF ¥ S Asaedr® 5 U W U Y g Seaedl -2 4
forezam. e 50 v HisaR R 145 T fae@ W @M fad T aie dead ?

(1) 13 (2) 15 (3 35 (4) 45

There is negative marking system in & competitive exam. If a question is right it gets 5 marks and if
a question is wrong it gets — 2 marks. Rohit attempted 50 question and he got 145 marks.

How many right questions did he solve ?

.29'

i gt wred Tilear Tieed 2oam TeveT FIed TR 32 HE 4 IEFE 8 WK . e Fiewdta
Wt . e e WU fR 3 wme G, e ST e seed QF WY aE
Q. TaaH Ak €9 4.75 @ TOR TGRS SRR aiiae | fSied.

T S A W W qoi O 9 e,

(1) w vfeem wivda . 2) wEa Suiegd ¥iada :

(@) wH Suia wieda () sifow Sla 9= .

In the first phase of the annual Hockey Tournament the 32 participating teams are divided into 8
groups of 4. In each group all the teams play each other once. The group winners progress to the
knockout phase, which consists of quarter-finals, semi-finals and the final. This means that all the
teams play at least.3 matches, whilst the two teams that contest the final play 6 matches. Along
with awarding the trophy to winning team, the team that makes highest average number of goals
during the tournament is also awarded. Last year the team ‘chakravata’ won the ‘highest average
award’ by scoring an average 4.75. ‘

Select the option that describes the last year’s progress of ‘chakravata’ team.

(1) Only till first round (2) Only up to quarter finals

(3) Only up to semi-finals (4) Reached to the finais

%] TS AN / SPACE FOR ROUGH WORK y S . i



A ST S I U15
30, NE e 5 o iR S Smm;mﬁmsmaﬁ-meNﬁmmmNmsﬂ
weawrlt ST8E, W S ford foemdf e ? | - : -

(1 23 - - @ 2 @ B @ 2

N ranks ﬁfth in the.-class. Sis eighth- from the last. If T is sixth after N and just in the middle of
" N and S. Then how many students are there in a class ? '

@) 23 @ @ 25 @ 2

31. SR 14 WK I 6 AW FH T i1@auﬁ_m€aﬁmsw‘m7ammwﬁﬁiﬁauﬁaﬂaﬁa? .

1) 12 @ 14 3) 16 4 18

If 14 labours make 21 toys by wbrking 6 hrs, daily then how many toys will méke‘by 8 labours by -
working daily 7 hrs. ? : ' , - .

(1) 12 | '(2)_ 1 T3 16 -_(4,)" 18

2. fergpaia 50 Faenefi sme. mmmmmmmmm@mm 10 Forereft
: mﬁwmﬁmﬁwwmwﬁammwﬁmmaﬂammﬁﬁ
. WWWWHWWWMWWW '

(1) FFPR2L, 11929 - (2] EN27,18F22
(3) ITFA 37,279 13 (4) wER B9, 2991

There are 50 students in the nursery class. Some students can speak English only and some can

converse in only Hindi. 10 students can converse fluently in-both these languages. If number of

students conversing in English is 21 then select the option indicating the number of student those

speak Hindi, number of students thase only Hindi and nuimber of students those can speak only
- English respectively. ' S o -

(1) 21,11 and 29 .réspectively . (2 27,18and 22 respectively
~ (3) 37,27 and 13 respectively . (4 39,29 and 11 respectively |
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33, AR WA ST wees TR i R FEErIRYT S @ S, | Ty A
| aREe W 39 waiators s vt A aSe . foe Bavaren war e wied. geht
. IEr T TR aefen SReRTIeR e aow o giie dR. | frat amen dem aaee seeii
oA o . mmﬁmﬁmﬁrmm&wﬁﬁmmwmm

: ﬂa@m ﬁ@mwuﬁwqﬂaﬂqﬁmmmmﬁmﬁa :

".ﬁawﬁmﬂagﬁamg@mﬁsﬁwwm@mﬁm

M 'mmmwwmmm

| @ 'Wﬁmwmmﬁmmmﬁwmmﬂmﬁm&
o e ———

Generally people are mterested in conservmg environment by reducmg the e.ffecis of climate. But
instead taking care of environment ‘by responding to climate change priority should be given to .
- preserving human species. As per the ten thousand years history of the planet earth there was
+ . rarely relative stability of temperatures. Nature has been adapting to large temperature variations
- continually. But the human civilisations that have evolved during time span have developed during
* a period, when weather was reliable and predictable. The nature will keep on changmg but chmate '
change w1]l n:npact hurnan cwﬂ:satlons severely

.select the one"option that appropriately expresses the main conclusion of the al_x')vie argument. '
(1) People respond to ch’niafe ,éhangé 'folicies m order to conserve mﬁrdnment

" (2) © Acting to manage chmate change is’ more 1mportant for the survwal of human spec1es than
for nature : _ ,

- '(3) Human civilisations have not been exposed to large variations in temperature till now -

' (4) Nature will find a way to adapf, but humans will get severely impacted by climate change
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34. mAxBaraan BWWW&AWWNW%A B ST IO 3E: A%B 91 31 A, B'emtﬁw
e A-B1aY A, Bwvﬁaﬁmarkm?%qm S, waﬂasﬁﬁmﬁw :

R (1) = ) A (3) =S . (4) M
- If AXB means A is to the south of B; A+BmeansAlstothenorthofB A%BmeansAlstothe :
- eastof B; A— BmeansAlstothewestofB thenasper’P%Q+R g, selectthedJrecl:lonomeﬂ\ ‘
respect to Q : T _ :

(1) North-east  (2) Nori:h—west 3) Sou'th-west @) South-east |

3s. ‘-’a%ﬁﬁwgﬁamammaaﬁmmﬁwﬁawwh@ﬁw

ﬁﬂmmﬁwwmwmmmﬁtﬁmmaﬁmwww% ,
A T, TR TS TR T HEA SR R Aeavard T SR, 1 SV e
T T AR G i 4 s, ﬁmmﬁaﬁmﬁﬁmwﬁaﬁmmﬁﬁr

(1) mmmmwmmm quﬁ@ft@tﬁwmm
| RO 4 Hree ad.

@) -wﬁ%ﬁmmmmmﬁmmmﬁ |
No) ﬁaﬁuzwmﬁwgﬁmﬁmmm&q@ﬁmﬁmﬁﬁmumﬁmamﬁmm
(4) %ﬁwm@wﬂeﬁwﬂmﬂmmwﬁmﬁ
' Select from options given, the best ﬂluSUatlon of principle underlymg argument given below.
All motorist pay same road tax though some of them cover only 200 km and some cover 2000 km. -
This isnot fair. It is necessary to do away with the road tax and tax on fuel should be increased to
get revenue. This taxing system will ensure that those who use roads more will be paying more.

This system is fair system and will help to earn more revenue.

(1) People who watch television channels should be made to pay those channels by subscnptlon
-80 only people watching those channels only have to pay

(2) Girls should receive free education only if they cannot afford to pay for it

(3) Water chatges should be l'ughe.r for restaurant owners than for domestic customers as they
- are earning profit by using the system

(4) Salaried perscms_should pay more for medical treatment than -those who are dally wagers
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36. Sl w1 o o o o 25 9 et o R O 1529, R T e
m 20=f @ 2= @) sa @) u=

If 8 year ago, the ages of Neha and Rekha were in the ratio 2 : 5 and the ratio of todays ages is |
1:2, then what is todays age of Neha ?

N ) ‘25yrs o 24 yrs :

37. mma@aﬁmm%mmwmmwﬁmm@mmﬁm
mﬁw’rﬂ I , .
1y 52 @ 3808 . @) 312 @ wBr |
'If measurement of ma]or arcof a circle j is more than 48° of 5 times of its minor arc then what is the
- measurements of major arc of a circle ?- : :

@ s @ s @) sl ‘.(4) 132°

18.84%x1256  21.98 | 942x 314

38, = — X 7 _
R 1570 T 2542 - .
 (1)' 11.2 | (2)' 22.4 (@) 36 (4 448
1884x1256 2198 942,x 3.14 . '
628 X570 ° T 2512 S . B 4 .
-'(1)- 112 224 . () 336 - @) 448 -

8. ﬁw@ﬁw%a@amﬁaﬁm%mmaﬂﬁmﬁﬁﬁ? |
Q) 10:7 @ 5: 3 @ 27:5 . @ 5:1

If addition and subtrachon of two. numbers are 85 and 15 respectlvely then what is the rauo of
' these two numbers.? 4

(1).10:7 @ 53 . 3) 27:5 . (@ 5:1

40.7 -‘qa;uooom?ﬁa‘taﬁIO%QEWWMWWWWS%QEWRWW
(). 23,420 @ ?3500 _ @) Z 3,600 . (@) T 3400

An article worth T 4,000 is , sold at 10% d1scount and further dlscount of 5% 1s given due to off .
season. What is the selling pnce of article ?

(1) T 3,420 @ T3500 - @) 23800 (4) T340
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q. dew: FE 2ty )
- (x+y)3
Q. x-y . @ *y 3 xz_gz _'?(4) x4y

Solve : (x —y2)<x 22y +y? )_,
(x+y)3

O N B OB S T Ol o

42. ﬁmugﬁﬁammﬂamﬁsoﬁmﬁm mﬂﬁﬁﬁahm%ﬁa«mm«ﬁa?
@ 15 (2 18 (@) 22 @ 20

finishes a , work in 45 days, Raju finishes the same work in 30 days In how many days will
-_bofh finish the same work together ? -

| o1 ® 18 @ 2 @ 2

-43. rﬁvmmnawﬁw&nmgﬁﬁaﬁmmmﬁaﬁ?
@y T 1485 @ TWBE . (@) T (@) 2153

* If Ramesh got 14% discount on purchase of cloths of ¥ 1650 then how much rupees did he pay for |
' purchasmg cloths ? = = '

(1) T 1485, () T1376 @ _1,14179 @ -t_1'353

| T _mmmmammo

® 28058 @ 28099 - (3) 280100 . (4) - 280.101
3 ‘ W}uch of the following is the largest nuniber ? | . o |
(1) 280.98 (2) 280.99 (@) 280100 (4 280101

"45. ‘mmﬁlswzzsoowﬁmmfsoa\am mmﬁ@iﬁmmﬁ?

(1) ¥150 () TMO- . (3) T160 @) T180

Ifa shopkeeper sells 18 shirts for T 2,800, he suffers a loss of T 80. What is the cost’ pnce of each
-shirt ?

A TBO - . @ T140 @ T (4) 2180
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46.

22 | A

wﬁvﬁhmaﬁlﬁwmmwmi}mm?ﬂmm7

w7z . @8 @9 @ 3

A sum of natural number and its multiplicative inverse is ?0 . What is a natural number ?

7 @8 | e 9 @ 3

47.

mwsm#@arn%mufmwm*mﬁwuﬂmeﬁaﬂaﬁmwmv

| Wluch digit from below shou.ld be in place of * so that 3689*5 will be completely divisible by 11 ?

M 5 @ 9 | G 4 - - '(4)' 7

48,

T 7D ST e, mma?ﬁmamﬁam 32aaéﬁam‘a§ﬂﬁaﬁmm§uﬁmmﬁmmﬁa??

nHn 12z @2 10 E 3 14 @ 38

- - Inagroup of 70 persons,ZSdnnksonly tea, 32dnnksboth tea andn:ulk howmany personsdrmks
m:lkonly? |
M 12 @ 10 @ 14 @ 38

mzsxmmmmuﬁm R el T 39 W A6 quargaazaﬂm‘ |

3 ’mmmmﬁaﬁmv

) 2 @ swL o sooﬂn"_ @ afed

. -Sarthak bought 60 sammosas at the rate of ¥ 3.25 per sammosa. Instead had he bought sweet at

the rate of T 39 per kg How much of sweet could he have bought ?

a) - 2kg ‘@) 5kg @ 500gm (4 4kg -

%Y HVETA TR / SPACE FOR ROUGH WORK
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: 7
If we arrange the fractions re

| 7723 , | | T
W %g%—l— emﬁlr% %Wmﬁ_ﬁm%ﬁﬁmﬂwﬁﬁﬁﬁaﬁﬁ?

29 | 5

w.: o @y e @R

ol
SR

‘ %, -}I and 7 in inc_l.-easiﬁ'g order then what is sum of first and 7
last fracﬁon ? _ '
K 29 - 5

oY )

m 3

51.

Wﬁmﬁmﬁmﬁmlsﬁwﬁﬁwmmmmswﬁﬁmmm

- feet et ? . , \
-'(_1‘)' 9% - (2 9.25% (3) 950% (4).-' 9.75%

If séller increased selling price by 15% with writing on that thing and he gave 5% discount on that

+ written price of that thing, then how much percentage in profit did he get ?

g

J'_(1) 9% (2 9.25% (3) 9.50% @) 9.75%

52

. R (1»5)2><(8“‘)2 =2% Wm=7 .
1 4. @ 3 e w s

If (16)2 X(&m)?’- - 226 then m~= ?

T

53.

A1 TS AN / SPACE FOR ROUGH WORK

e @3 @ 7 @ s
maﬁﬁﬂﬂﬁawﬁlﬁm?guﬂmmmﬁaﬁﬁmﬂmm mﬁg\mmmaﬁ

- el ?

(1) 3333. (). 66. 66 - (3) 25 | : (4) 35
If 2. year ago the price of petrol was 90 per litre and today it | 15 4 120 per litre. What is the

[

_percentage increase in price of petrol ?

(1) 3333 @ 65.66 @ 25 (@ 35
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54, aﬂmmgﬂmm%mmﬂmﬁwmm7

1) 66 @ 63 . . (3 68 '(4) 73. |
If product of two consecutlve number is 4692 then which is smallest number among them ?

(1) 66 @ - . @ _68‘_ @ 73

55.

. 9 AR WeEATe it T 31 ST T W e ?

W BIU Q) UFTS 3 15916 @ 16717

If difference between square of two consecutive numbers is 31 then which of these numbers ?

(1) 13and14 - (2) 14and 15 3) 15and 16 (4) 16and17

56. -

m%ﬁaﬁwmzowwmmﬁaﬁa%ﬁﬂgaﬁmﬁmmﬁmm 2

(a) 30 fegam

@ﬁvm qﬂﬁqﬁa' T Aee 45 famm

G mﬁaﬁwﬁammmﬂﬁéﬁw

nafd’rsa‘r
W W (@) o @ R
(3) (a)anﬁr(b)aia%a . @ aﬁaﬂaﬁaﬁuﬁﬁﬂﬁt

‘Within how marny days a hrst appeal be dlsposed by first appellate authonty under the RTI Act
2005 ? _ :

(a)j Within 30 days

(by Within 45-‘deys in excepﬁona] cases, by stating reasons

() No such time limit is prowded in the Act

" Answer options :
- (1) Only (a) (2 Only{Q

» Gy | (a) and (b) are true ' : (4j - None of the above.
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57. Hfdftar Afewr 2005 THY YoA® Qe T @ sifufen afufaeia qemen |
Teaqr=a AW onuE! den, B 9 wdR i a9 9HE S it Ane g f WeRe seEEd
Fe.

(1) 30 (2) 60 (3 90 4 120
As 'p'fér Right to Information Act 2005 Every Public Authority shall publish within
days from the enrolment of this act the particularly of its organisation, functions and duties and
theme after update these publications every year.

1) 30 2) 60 3) 90 @) 120

58. 'uﬁ?ﬁaﬁrmmzmsmgamm:
(a) VHHE FHHEE YRS S TR 97 Hrearea 20,
(b) VIR HEEEER FET Java saig SfumR TR 20,
() VI e R TR Fr TR s AR 2,
(d) WeERER Sy AE.

it IO ; _
(1) S (b) 0 () TR (2) W (a) A (d) TR
(3) & TR FRa @) =0 Y= T

The main object of RTI Act 2005 is :

(a) To promote transparency and accountability in working of Government.
(b)+ To give unlimited powers to citizen to have control over Government ofﬁces.
(c) To give limited powers to citizens to interfere in working of Govt. offices.

(d) To combat corruption.

Answer options :

(1) Only (b) and (c) are right (2) Only (a) and (d) are right

(3) Al are right ‘ (4) None of the above
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59. Wi AfFR Haiata A afedt 18 =wfen hefq awiaaaﬂvﬁwﬁamﬂﬂ ?ﬁmfteﬁf%mﬁ
o9 TN U =1 3 AR qre.

(1) 7279 (2) 487H (3) 2479 (4) 3699

Where the information sought under the Right to Information Act is concerned with the life or
liberty of a person, the same shall be provided within of the receipt of request.

(1) . 72 Hours (2) 48 Hours (3) 24 Hours (4) 36 Hours

60, T SR FEE 2005 1 FUGH T AT TS HIOR GH1 97 HIEASTIT 39 T ?
(a) iy faiet d=on
b)) TR fifds P framds
() Fem fafda FoRd framds
it 3w
(1) T (b) 3 () (2) ¥ (a)
3) (), (), () T BoRG T @) (), ®), ©Tsd

Which of the following organization don’t come under the scope of Right to Information Act 2005
- as being exempted organization ? ‘

(@) Narcotics Control Bureau
(b) Any State University
(c) Any Central University

Answer options :

(1) Only (b) and (c) (2) Only (a)
(3) None of (a), (b), () (4) Al among (a), (b), (©)
61. T = AT FAMPTY VIR TS i) St Freaeh e el M I
(1) TG ESte<y. (2) TLURSTE=Y
(3) %YM Sy, () whemaResy
Department of Informahon Technology has created a gu1de lines for Indian Govemment websites,
and it is known as : __norms.
(1) WNGW ‘ & 2) NFGW

(3) WIGW 4) GIGW
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fziﬁz'a?e@m Eﬁﬁ?qﬁﬂéqﬁ@ﬁ’r mﬁa‘c’mﬁ@nﬁamu‘q‘mﬁaﬁiﬂnﬂ% -
o ;—mtﬁtmﬁt @ m () aqu—qﬁ@ﬁ (4) TE-mEE

: portal provides a single wmddw to all APMC related information and services in
3 Digital India Movement. :

o

(1) E-APMC (@ eNam (3)- i-APMC (4). i-market i
| es. fordter ot ofareh o dover e o frd o
rr @M w @ feEw () wedw @ sfew

is a systemn devéloped by Media lab Asia to support educational domain.

(1) Dhara - (2) Jeevandeep  (3) Sahayika 4) E-sys

-

64. Terer TR Hett Fera awaﬁwwr%z&wﬁmm&mﬁ@cﬁ(;ﬁ&m@) ﬁ%’e"m%ma

(1) TERIW () WITET () TETR @) WL

National Informatics Center has created Nat:onal Agnculture Market Atlas known as
e ) )

(1) AMGIS @ NAMA  (3) AMAG @ AMAN

65. ﬁdﬁ%m%ﬁﬁhﬁa“wnﬁzﬁﬂmmgﬁ"m@mmmwwﬁm
W WO, -

e T @ ddw @) 4w @ e

y is a unified web based power momtormg and controlling tool’ used for power
optlnuzatton developed by C—DAC :

(1) A-MAC . ) D-MAC (3 P-MAC 4 M-MAC
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66. wWWWWWWwW?
(1) 500000 () 1,00000 (3 50,000 (4) - 75,000 )
In case of micro insurance, upto wHat amount can the insurer issue a policy ? | |
(1) 5,00,000 () 100000 (3 50000 (4. 75000 |
67. e et e TR A T WA
() oo W (@ e W
(3) PP A . (4) . Foreren wEw
In which century insurance began formally in India ?
(1) 18 century S (2) 16th century |
(3) 19% century (@) 20 century
A 'E@ﬁ faud &@ STI%H f‘q'ﬁr @'ét g4t Sﬂi .

(a) i A mﬁm ﬁmmf HYH ¢ cedmg company’ ve'mma

" (b) mwmmmmm

wfd’r.aﬂ’t :

 ()‘ W(ﬂ)@ ' , BRCE R (b)

@) (a) emﬁn(b) ol

@ (a)m(b)a”r%}@%

- Give answers whether the fol.lowmg siatements are true or false ?

~(a)’ The primary msurer is called "_cedmg company’ in remsurancé market.

(b)v The reinsurer accept the risk | passes by pnmary insurer.

" Answer optlons

(1) Only (a)_lsirue' R 4 -(2) Only (b)iéﬁue o .
(3) (a) and (b) both are true (4) (a) and (b) both are false
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69. e B i RDA S 377 2. | | I
@ o g S Pt e e
() mmﬁﬂwa@wﬁﬁéﬁqﬁw
W@ @ e @) @) @) e
‘Which of the following are functions o RDA?- * -
@ Regulating investment of the fundby insurance companies
() Regulating maintenance of margin of solvency -
Answer options : | | -

M Ony@ - (@) Ony®  (3) ()and(®)both (4) Noneofabove

70, maﬂaﬁaﬁwgﬁﬁmwm?
2 aﬁlﬂaa Tﬁmw
(3) T T

@ T
Which 6f the foI_lovﬁng is not a reinsurance treafy ?
(1) Facilitair:i\.rer reinsurénce treaty .

@ Surplus reinsurance treaty . |
3 Fupdamentals 'reinsurance treaty

(4) Quota share reinsurance treaty -

AT FERAS AW / SPACE FOR ROUGH WORK © e o . PTO.
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| 71, R SR o R iR e .
() 1938 - - (2 1985 . (3 1912 ‘ o (4) 1956
‘meﬁrstmd]anmsmncemwaspassedon o o
(1) 1938 . @ 1985 - () 1912 (4) 1956

72, e S HERE i 2.
(1) P e e
(2 ﬁmmﬂ%ﬁmw@aﬂawmﬁm
(3) ﬁmwﬂﬁﬁmgﬂa@ﬁaﬂamﬁw |
[ ‘T |

-~ Where i msu.rance compames reveriue come from ?

(1} Premium paldby insured .
o (2) Income from interest on mvesl:ment that insurance co. have made
: (3) Income from d1v1dends on mvesl:ment that insurance co. have made
4 N .A.ll of above

}3. mﬁmmﬁ aaafraﬁra
(a) tﬁwﬁﬁﬁmmnﬂﬁﬁam
(b) aﬁrmwﬂmﬂtaﬁm

0 m_(a)aﬂmm%_—. @ e
(3) I@RmamE . @ et T M

" The probability of';isk will depend partly on,
-(a) How frequently the peril may occur. "

(b) How severe its l.mpact can be .

'Answer ophons o S .
(1) - Only (a) is true © . (2 Only (b)is true

(3) Bothare_true (4) Both are false '
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74. SR anfor feed Ewaraa FO e : waﬁmmﬁ‘r |
(1) omEiEEd () shwwite  (3) sfmwiEs (4) RGeS
| 'I'he poﬁcyhblder' ‘lyhp transfers the rights and liabﬂitiés is known as the

@) ‘assigno,r ‘ (2) assignee . (3) assignment (4) nominatorer

Uis

| ) mﬁmaﬁmaﬁm '
(2) SRR sfn s T
. -(3)‘7 W?ﬁ@mmgﬁ
" @ - s
A nomination can be made only i favour of
(1) Spouse and children with guardian
@ Spouse and minor children
. ((3) B Parents, spouse and lc—hildren

4) Anyindividual

76. WCeRY e T F o7 Tew 2 -
(1)) SmEIMAY (2 Ay () WEIRHT @)
- Who .ahwr_lg'the follo’ﬁring is not a member of irlsu;ance“mai'ket‘?‘

() LRDA. (2 TPA- . . (3 MMRDA '(4) Surveyors

Ho1 FFTHR O / SPACE FOR ROUGH WORK
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77. RDAW T

(a) TR Tt SR

®) ﬁmr frams

(c). wa LUCERL |

(1) FRE@TRA@ (2 (b)) TR A

3. (a)aﬁ(b)uﬂaxaﬂa (@) e e

IRDA is the : L E _ ‘

(a) Industry watchdog

(b) Insurance regulator

(c).  Licensing authority

Answer options : , o

@ Only (a) is true ) (2) {(b) and (c) are true :

3 () and (b) are true o - (4) All the above are true. » . '

78. - w@vﬁaﬂﬁmwgﬁmﬁmﬁﬁﬁ igae e TR ?
1) TB A 2 T50FE. @) THBA (@) TI0RA
How much is the minimum cap1ta1 requu'ed for starting life insurance busmess in India ?
(1) - T 25 crores 2 z 50 crores (3) ¥75crores - (4) T 100 crores

79. mwmmmmmmmmﬁ?
(@) e HRY SR W - W‘Bi’aﬂﬂﬁﬁ s '
(b) FreF e | ‘ -
© () S I ,
(d) el anfn e
(1) (a) R A sfn ® G (@0 Wﬁ" © @ w
- In which of the following unavoidable conditions insurance cover is prowded in Crop Insurance ?
() Climate Factors like - Drought, Flood, Cyclone |
(b) Pest infecon
(c) Botanical diseases
(d) Riots and strikes

Answer gptions :. - _ ‘
. (1) Only (a) 2 @and®) () @ Gland() (4 Al
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© 80. mmmmmmmmw FDI)tr{amﬂem%?
() 26% (2) 49% @)  74% (4) 100%
, How much is the maximum Forelgn Direct Investment (FDI) allowed m insurance sector in Ind1a ?
i ) 26% (@ 49% (@) 74% . (4) 100%
1. Tl S S R mgﬁtéﬁﬁ‘aﬁ.

(20 fom s, 1968
(@) R fo s (rrs,f\wm) aﬁ:ﬁm 1972
(4wt oo fon sififrm, 1948 -
General Insurance Corporauon of India are established by
(1) Acts, of Parliament '
. (2‘) I.nsurance Act 1938 ,
(3) . General Insurance Business (Nauonahsatlon) Act, 1972
4) Employees State I.nsurance Act, 1948

82. mﬂﬁﬁiﬁmﬁaﬁmm@w@aﬂaﬁmmm7 S g
1) s g | |
@ e -
(3) mewmmw
@ v | -
Which of the following incidents fall into the category of Public Liability Insurance ?
(1) Accidental death

(?) Physical injury
,(3) Damage to third party property due to negligence of the insu_rec‘_l
(4) All of the above
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83. __ mmmmﬁmmmﬁam
1 ?mvﬁwﬁar (@ R s (3) hﬂﬁwm (4) TEERE
- is-the pohcyholder who transfers the tlﬂe of the pohcy

-(1) : Asmgnee (2) Normnee : (3) Ass1gnor (4) Corsignee

1

8a. TR SHSfEn whidas Frw, 2002 . U Sivew e,
‘(1) 1@&2005 (2 " 19<Ea2005. (3) 1aﬁa1ﬁ2000 4) 1'@2003- '
The Preventlon of Money Laundenng Act (PM'LA) 2002 was brought mbo force from :

(1) 1% July 2_005 (2) 1%Sept, 2005 (3) 1% Jan. 2000 '(4) 1% June 2003

. 85. Hﬁaﬁmmﬂ%ﬁamﬁw 1998'5%"@'9'“151'13'41?'9@
(1) fam T (@ fom Fﬂiﬁw
_‘(3) | waEm | @ Wﬁ'ﬁ'
Redressal of Pubhc Grievance Rules 1998 created the system of

(1) Ins_urance agency (2) Insurance ombudsman

‘-(3) State tommission o 4)- Consumer forum

86. ﬁ'nﬁm@%ﬁmmﬁwﬁﬁﬁq«aﬁmﬁmﬁmi@nmmﬁq

(1) X100 (2) tsdo @ T (4) 5000

. Any person makmg default in complymg Wlth the prov1s10ns of section 41 shall be pumshable
with fine wh1ch may extend to : :

(1) - T 100 o 500 . (). 21000 @ 2 5000
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35 u1s
= a9 TawamereT T T sifyes fam s fam +6a Fw 7 fievart it #1@.
(1) 9rEH (2 wefam () THEHA wWaE  (4) fouw ol

The principle of ensures that an insured doesnot profit by insuring with multiple
insurers.

(1) Contribution (2) Co-insurance (3) Indemnity (4) Particular average

88.

arefierialt S s T e A omka ?

1) foeamde (2) T ARNT

(3) T FEm (4) FTER S

Which of the following authorities is dissimilar to another three ?
(1) District Forum (2) State Commission

(3) National Commission (4) Law Commission

89.

FrefeEeErea SRt UNUTHITGS ST Ty
1) fer g @ @) TEmdm (4 e €
risk are those resulting from changes in the economy.

(1) Static risk (2) Speculative risk (3) Dynamic risk (4) Pure risk

90.

w foam datof famn vyermmsd A9 d.
(1) == fa (2 = o T
(3) s 4) om fam
is not included in Miscellaneous Insurance.

(1) Motor Insurance (2) Fidelity Insurance
(3) Fire Insurance (4) Health Insurance
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91. Wi BR faEreT SR ?
(1) e @ (2 wfged
(3) SFEA WEHIE @) waad
Which of the following is an insurance principle ?
(1) Insurable interest (2) Indemnity
(3) Utmost good faith (4)  All of above
92, IRDA T} TFU e kA
@ 9 2 10 @ 1 (4 7
The total members in IRDA body are
@ 9 2 10 @) 11 @ 7
93, Siea fanmed wmaE: aTRen ST SAET faearta Wi et |
(1) fo1 @FH (Sum Assured) (2) Y& ARG (Supplementary Assurance)
(3) Y=i® A (Stamp Act ) (4) =il et (Survivors Annuity)
Select the expanded from of SA as commonly used in life insurance.
(1) Sum Assured (2) Supplementary Assurance
(3) Stamp Act (@) Survivors Annuity
94, TPA Ui} fam firddt wrvisas TR R ?
1n 19 2) 10FE
(3) 50 9= - (@) fowrE i T
How much is minimum share capital requirement for TPA ?
(1) 1 crore | (2) 10 crore
(3) 50 lakh (4) No minimum share capital requirement
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95, maﬁmmﬁmmﬁam B
(@) ama mmmaﬁ

(b) mmm@wwmmmwmmmm
mmm

e |
O @ @ oW
®) (@) ) I T (4) aﬂaﬂaﬁwm
In India, the premium is collected by insurance companies,
(a) . In advance at the time of ;d.mission of the member to the; group

- .('b) A fund is created from the prenuums collected and is used to settle claims of members who

suffer loss
Answer options :
() Ony@istue . (2) Only(b)istrue
k(3)' (2) and (b) both are true @) Non(; of the above
JPPIE ST S———— |
(1) fowfem | @ o g
() fomwEew | o (4)" for weriaTeTs

Who is the Head of Department for Directorate of Insurance ?
(1)  Insurance Secretary. . (2) Commissioner of Insurance

_ (3) Director of Insurance (4) Director General of Insurance
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97, WERTZ W Wt fon ot srawre R ol v R e s
1) 1gdi2 @ 1@53119_72 3

(3)“‘1333.1971 : S .(4) 1141‘2&1971[

The Govemment of Maharashtra established an ]ndependent Insurance dJIectorate on _
for the management 'of Government Insurance funds ?

1) July1,1972 © . (2)  September 1,.1972
) July 1, _ Septembs |

() TJuly 1, 1971 B (4) September 1, 1971

‘98. e a— swmaa; : waqsaraaam
(‘1) W S | | -.(2). mmw
3) Wﬁ'#ﬁwrsrﬂmﬂ @ aﬂaﬂaﬁ-ﬂg’r
Deputy Director of D.irectorate‘ of msﬁr'gme répgrts to 3

. (1) biIECtOI'. , Lo -. '. {2)  Joint Director -

‘(3) Drawing and Disbursing officer (4) None of the above.
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99. et fre Ft areirer e fren e e, - . e
| @ mwrﬂﬁwm N |

'(fb)_-ﬁwrraﬁﬂﬁqm

.(c)__jm%mﬁmm

@ mmmmmmmwm

i ar |

) wWE@WR @ W @), (b)e?rﬁr(d)m |

@ TEEAMGER @ e ¥ (3, ) (c)m(d)m "

" The Cover'm:ﬁent Insurance Fund provides insurance services to :
| (;ca) _ Sta.te_Govemment bépartmerit ' |
() Semi Government Deparl:ment :

" (o) State Statutory Institutions - |
(d)’ Boards or Institutions in which govemmemt havmg substantlal financial interest
Answer optmns

- (1).7(‘)nly(a)i.strue‘ : B ) Only(a) (b)and(d):strue |
3) Onlyf_(a) and (b) is true o . {(4) All above (a), (b) (© and (d) is true

100, mmmm@mv | |
W@ s @ R @ KR
Where is the Reglonal Office of Directorate of Insurance ? i

(1) Pune " (2) Nashik @) Nagpur @) Aur;ngabad

A-.000-
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@® nmmq@ﬁ&amﬁ&mamﬁm(wﬁ)mﬁ nﬁgﬁ@mﬁrﬁaﬂmﬁlﬁmmm '

| FHTREK B B HedE O S HIOGTET RAW FO I, I TS T80 T FITATT SAGARTE EAH A
e ‘gl o s Ty HroaEma aftifrr-82” ardie RgdeR sREE W 3o

. 7 3l S TS U ANt STOEmTe iR T 0% st e et R ww dde.

xo) mmmmm%mmammwmm
mmﬁmﬁ mw&m@m@%mm%1mm:ﬁawwmm.

| . qg:nm:[
uaszo:t mmwmaﬁﬂhw miﬁr?'
W mwm _ iaawaﬁmmr
@ T e O | e ey
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